
Code No. : A.B.B-333

[  2  ]P. T. O.

Roll No. ......................... Total No. of Sections : 3

Total No. of Printed Pages : 15

Code No. : A.B.B-333

B.Com. Part III

COMMERCE

Paper I

[Income Tax]

Time : Three Hours ] [ Maximum Marks : 75

uksV % [k.M ^v* vfry?kq mÙkjh; izdkj dk] ftlesa nl iz'u gSa]
vfuok;Z gSA [k.M ^c* esa y?kq mÙkjh; izdkj ds iz'u gSa ,oa
[k.M ^l* esa nh?kZ mÙkjh; iz'u gSaA [k.M ^v* dks lcls igys
gy fd;k tkuk gSA

Note : Section �A� containing 10 very short answer type
questions, is compulsory. Section �B� consists of
short answer type questions and Section �C�
consists of long answer type questions. Section �A�

has to be solved first.

[k.M ^v*

Section �A�

fuEukafdr vfry?kq mÙkjh; iz'uksa ds mÙkj ,d ;k nks okD;ksa
esa nsaA 1×10=10

Answer the following very short answer type
questions in one or two sentences.

1. vlk/kkj.k fuoklh dkSu dgykrk gS\

Who is considered as Notordinary resident ?

2. ;k=k fj;k;r D;k gS\

What is travel concession ?

3. jkstxkj ij dj dh dVkSrh D;k gksrh gS\

What is deduction for tax on Employment ?

4. edku ds ^mfpr fdjk;s* dks le>kb,A

Explain the term �Fair Rent� of the house.

5. e'khujh ,oa IykaV ij LohÏr Îkl dh nj crkb,A

Mention the depreciation rate on plant and machinery.

6. ykWVjh ds buke dh 'kq¼ jkf'k fdl nj ls ldy cusxh\

On which rate net amount of lottery price shall be

grossed up ?

7. D;k O;kikfjd gkfu dh iwfrZ osru dh vk; ls dh tk
ldrh gS\

Can loss from business be set off by income from

salary ?

8. ,slh vk;ksa dk mYys[k dhft,] ftu ij vk; dj dh

fof'k"V nj ykxw gksrh gS\

Mention such incomes on which special tax rates are

applicable ?

9. dj fu;kstu dh vo/kkj.kk D;k gS\

What is concept of tax planning ?
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10. dksbZ nks vk;dj izkf/kdkjh crkb,A

State any two income tax authorities.

[k.M ^c*

Section �B�

fuEukafdr y?kq mÙkjh; iz'uksa ds mÙkj 150-200 'kCn lhek
esa nsaA

Answer the following short answer type questions

with word limit 150-200. 5×5=25

1. fe- ek'kZy 2013 esa Hkkjr vk;k ,oa ,d O;kikj vkjEHk
fd;kA og ,d fczfV'k ukxfjd gSA blds ckn og igyh
ckj xr o"kZ esa 1 tqykbZ] 2019 esa Hkkjr ls baXy®M x;k vkSj
31 ekpZ] 2020 rd Hkkjr ug° ykSVkA

Mr. Marshal came to India in 2013 and started a

business here. He is a British citizen. During the

previous year he went to England on 1st July, 2019

and did not come back to India upto 31st March, 2020.

vFkok

Or

vkdfLed vk; ls D;k vk'k; gS\ le>kb,A

What do you mean by Casual income ? Explain.

2. edku dk okf"kZd ewY; Kkr dhft,µ

(i) uxjikfydk ewY; ` 55,000 okf"kZd]

(ii) mfpr fdjk;k ` 60,000 okf"kZd]

(iii) okLrfod fdjk;k ` 6,000 izfr ekgA

edku 3 ekg [kkyh jgkA uxjikfydk dj 8% gSA

Find out annual value of the house :

(i) Municipal valuation ` 55,000 annually,

(ii) Fair rent ` 60,000 annually,

(iii) Actual rent ` 6,000 per month.

House was vacant for three months. Municipal tax is

8%.

vFkok

Or

vk; dj fu;eksa ds vuqlkj fdjk;k eqDr vkokl lqfo/kk

ds ewY;kadu ds fu;e le>kb,A

Discuss rules regarding valuation of rent free

accommodation under income tax.

3. fuEufyf[kr enksa dks ?kVkus ds ckn ,d O;kikjh dk 'kq¼

ykHk ` 5,37,800 FkkA

(1) iz/kkuea=h jk"Vªh; lgk;rk dks"k esa nku ` 25,000

(2) DykWFk ekdsZV ,lksfl,'ku dks pank ` 2,000

(3) izekf.kr izkWfoMs.M QaM esa va'knku ` 7,300



(4) jktuSfrd nyksa ds pquko dks"k esa pank ` 12,000

(5) xjhc fo|kfFkZ;ksa dks lgk;rk ` 1,500

vk;dj dh n`f"V ls O;kikjh dh dj ;ksX; vk; Kkr
dhft,A

Net Profit of a trader was ` 5,37,800 affer deducting

the following items :

(1) Donation to Prime Minister National Relief Fund

` 25,000.

(2) Subscription to Cloth Market Association ` 2,000.

(3) Contribution to recognised providend fund ` 7,300.

(4) Donation to political parties election fund `

12,000.

(5) Help to poor students ` 1,500.

Compute taxable income of business for income tax

purpose.

vFkok

Or

iw¡th lEifÙk ls D;k vk'k; gS\ iw¡th lEifÙk ds izdkj

crkb,A

What do you mean by Capital Assets ? Discuss the

types of Capital Assets.

4. gkfu;ksa dks vkxs ys tkus ds fu;e crkb,A

State the Provisions regarding carry forward of losses.

vFkok

Or

fe- jkW; dh dj fu/kkZj.k o"kZ 2020-21 ds fy, dj ;ksX;
vk; ` 7,41,280 gSA muds fu;ksDrk }kjk osru ls ` 28,000

dj dh dVkSrh dh xbZ vkSj mUgksaus ` 30,000 vfxze dj
pqdk;kA mlds dj nkf;Ro ,oa 'kq¼ ns; dj dh x.kuk
dhft,A

Mr. Roy�s taxable income is determined ` 7,41,280

for the assessment year 2020-21. His employer

deducted tax at source ` 28,000 against his salary and

he paid advance tax ` 30,000. Calculate his tax

liabilities and net tax payable.

5. foÙkh; o"kZ 2019-20 esa ,d djnkrk dh vuqekfur dj
;ksX; vk; ` 6,62,500 vuqekfur dh xbZA vfxze dj dh
jkf'k ,oa fd'rsa Kkr dhft,A

Estimated taxable income of an assessee was

` 6,62,500 for the financial year 2019-20. Find out

amount of Advance tax and instalments.

vFkok

Or

dj fu;kstu ,oa dj vioapu esa vUrj crkb,A

Distinguish between tax planning and tax evasion.
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[k.M ^l*

Section �C�

fuEukafdr nh?kZ mÙkjh; iz'uksa ds mÙkj 300-350 'kCn lhek

esa nsaA

Answer the following long answer type questions

with word limit 300-350. 8×5=40

1. fuEu dks le>kb,µ

(i) O;fDr]

(ii) djnkrkA

Explain the following :

(i) Persons,

(ii) Assessee.

vFkok

Or

Jh thou tks fd ,d Hkkjrh; ukxfjd g®] fd xro"kZ

2019-20 dh vk;ksa dk fooj.k fuEu izdkj gSµ

(1) tkiku fLFkr O;kikj dk ykHk Hkkjr

esa izkIr fd;k ` 1,00,000

(2) ckaXykns'k fLFkr edku lEifÙk dh

vk; Hkkjr esa izkIr dh ` 1,000

(3) Jhyadk esa fLFkr edku lEifÙk dh

vk; ogha c®d esa tek dh ` 2,000

(4) cekZ esa LFkkfir O;kikj ds ykHk og°

,d c®d esa tek fd;s] ;g O;kikj Hkkjr

ls fu;fU=r gS ` 2,000

(5) Hkkjr esa mikftZr ijUrq eysf'k;k esa

izkIr ` 4000

(6) bUnkSj esa O;kikj ls ykHk ` 2,72,000

(7) xr o"kZ ds iwoZ dh fcuk dj yxh

gqbZ fons'kh vk; tks xr o"kZ esa Hkkjr

yk;h xbZ ` 15,000

mi;qZDr fooj.k ls Jh thou dh dj fu/kkZj.k o"kZ

2020-21 dh dj;ksX; vk; dh x.kuk dhft, ;fn og

(a) lkèkkj.k fuoklh] (b) vlk/kkj.k fuoklh] (c) vfuoklh

gSA

The following are the particulars of income of Mr.

Jeevan (Indian Citizen) for the previous year 2019-20 :

(1) Profit from business in Japan received

in India ` 1,00,000

(2) Income from house property in

Bangladesh received in India ` 1,000
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(3) Income from house property in

Srilanka deposited in a bank there ` 2,000

(4) Profit from business in Burma

deposited in a bank there, this

business is controlled from India. ` 2,000

(5) Accrued in India but received in Malaysia ` 4,000

(6) Profit from business in Indore ` 2,72,000

(7) Past untaxed foreign income

brought into India during the

previous year ` 15,000

From the above particulars compute the taxable income

of Mr. Jeevan for the Assessment year 2020-21 if he

is : (a) Ordinarily Resident, (b) Not ordinarily resident,

(c) Non-resident.

2. jke ,d edku ds Lokeh g®A bldk okf"kZd fdjk;k ;ksX;

ewY; ` 80,000 gSA xro"kZ esa bls ,d fdjk;snkj dks `

7,000 ekfld fdjk;s ij mBk fn;k x;k FkkA mlus fuEu
[kpks± dk nkok fd;k gS] tks mlus O;; dj fn;s g®µ

(i) uxj ikfydk dj ` 8,000

(ii) fdjk;k olwyh ds lEcU/k esa O;; ` 600

(iii) chek izhfe;e ` 1,800

(iv) xr o"kZ esa edku ,d ekg [kkyh jgkA

dj fu/kkZj.k o"kZ 2020-21 ds fy, edku lEifÙk dh vk;
Kkr dhft,A

Shri Ram owns a house property. Its annual letting

value is ` 80,000. During the previous year it was let

out to a tenant on monthly rent of ` 7,000.

He claimed the following expenses actually incurred

by him :

(i) Municipal taxes ` 8,000.

(ii) Expenses for the recovery of rent of ` 600.

(iii) Insurance premium ` 1,800.

(iv) The house remained vacant for one month during

the previous year.

Find out the income from house property for the

Assessment year 2020-21.

vFkok

Or

osru 'kh"kZd ds vUrxZr dj eqDr HkÙkksa ,oa dj ;ksX; HkÙkksa
dk fooj.k nhft,A
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Give an account of tax free allowances and taxable

allowances under the head salary.

3. nh?kZdkyhu iw¡th ykHk rFkk vYidkyhu iw¡th ykHk esa D;k

vUrj gS] crkb,A nh?kZdkyhu iw¡th ykHk dh x.kuk dSls dh

tkrh gS \

Distinguish between long term capital gains and short

term capital gains. Discuss the procedure of

computation of long term capital gains.

vFkok

Or

fuEu lwpukvksa ds vk/kkj ij MkW- xksiky dh vU; lk/kuksa

ls vk; dh x.kuk dhft,µ

(1) djnkrk dks vius iq= ds fookg ij vius nksLrksa ls

` 1,00,000 migkj esa feysA

(2) xro"kZ esa U;k;ky; dh fMØh ds vuqlkj vfrfjDr

{kfriwfrZ ij ` 40,000 C;kt osG izkIr gq,A

(3) vizdfVr òksrksa ls vk; ` 2,00,000

(4) ykWVjh ls thr ` 70,000 ('kq¼)

(5) Mkd[kkus ds cpr c®d [kkrs ij C;kt ` 4,000A

From the following information compute income from

other sources of Dr. Gopal :

(1) ` 1,00,000 received by the assessee from his

friends on the occasion of the marriage of his

son.

(2) Interest on enhanced compensation of ` 40,000

received as per court order.

(3) Income from undisclosed sources ` 2,00,000.

(4) Winning from lottary ` 70,000 (Net).

(5) Interest on Post-office Saving Bank Account `

4,000.

4. fe- pkyhZ us dj fu/kkZj.k o"kZ 2020-21 ds fy, fuEu

fooj.k izLrqr fd;sµ

(1) osru ls dj ;ksX; vk; ` 1,90,000

(2) edku lEifÙk ls dj ;ksX; vk; ` 65,000

(3) O;kikj ls vk; ` 28,250

(4) nh?kZdkyhu iw¡th ykHk ` 45,000

(5) ykWVjh ls vk; ` 72,000

dqy dj nkf;Ro dh x.kuk dhft,A
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Mr. Charlee has submitted following particulars for

the assessment year 2020-21 :

(1) Taxable income from salary ` 1,90,000

(2) Taxable income from house property ` 65,000

(3) Income from business ` 28,250

(4) Long term capital gain ` 45,000

(5) Income from lottary ` 72,000

You are required to compute his total tax liability.

vFkok

Or

,d fgUnw vfoHkkftr ifjokj ds dj fu/kkZj.k ds lEcU/k

esa vk;dj vf/kfu;e ds izko/kkuksa dk o.kZu dhft,A

Discuss the provisions of Income Tax Act in respect

of assessment of Hindu undivided family.

5. lqJh ek;k foÙkh; o"kZ 2019-20 esa viuh lEHkkfor dqy

vk; ij ` 1,62,000 dj pqdkus gsrq mÙkjnk;h gSA mUgksaus

fofHkUu frfFk;ksa dks fuEukuqlkj vfxze dj tek fd;kµ

15 twu] 2019 ` 12,000

15 flrEcj] 2019 ` 30,000

15 fnlEcj] 2019 ` 50,000

15 ekpZ] 2020 ` 70,000

mi;qZDr lwpuk ls dj fu/kkZj.k o"kZ 2020-21 gsrq lqJh ek;k

}kjk vfxze dj ds foyEc gsrq /kkjk 234 (C) ds vUrxZr

ns; C;kt dh x.kuk dhft,A

Miss Maya is responsible to pay advance income tax

` 1,62,000 for his estimated total income for financial

year 2019-20. She has deposited advance tax on various

dates as under :

On 15th June, 2019 ` 12,000

On 15th September, 2019 ` 30,000

On 15th December, 2019 ` 50,000

On 15th March, 2020 ` 70,000

Compute the amount of interest payable by Miss Maya

u/s 234 (c) for determent of payment of advance tax

for assessment year 2020-21 from above said

information.
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vFkok

Or

vFkZ n.M ds lEcU/k esa vk;dj vf/kfu;e ds izeq[k

izkoèkkuksa dk o.kZu dhft,A

Discuss the various provisions of Income Tax Act

regarding penalties.

r r r r r d r r r r r

Code No. : A.B.B-333

[  15  ] 15/50


